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A t(x) = [To(x) Ti(x) Ta(x) --- T(x)]7, He, X+ 0 <i < n,
Ti(x) = cos(iarccosx) 2Pl HFRZTA. B, 4E n+1 D
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3. XTI x € R FIEHL p > 0, x 1y p-TiHuE SOh x|, = (X [xl”)
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4. XEFHR x € R, WHEH (x|, < [lxl, < /7|
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G %F 20 p(x) = a4+ arx + ax® + - - - + a,x", Ps A7 AR
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(a) X} z € {1,2,3,4}, 114 z* =? (mod 5).
(b) W5, WT w =3,
{°, W, w?, W} =? (mod 5)
{0, w? w*, w®} =2 (mod 5)
{0, w*, Wb, w'?} =2 (mod 5)
(c) ¥F w =3, I8 1+ w+ w?*+ w?® =? (mod 5).
AMERH, w =3 7E (mod 5) WE I w =i ARLIHIER. A
LEE S, FATATLASEEL (mod 5) ST A PRz fE 7 A2 4.
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2. 4 w =23, fl FFT kB L= 3x +2x* 1£ {1,3,4,2} H{E (mod 5),
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3. KAZ2mirE {1,3,4,2} bRk 52 {0,0,1,4} (mod 5), il
it FET [iiAsffsk Hix 20, 5 i HERE T RS0 .

fé/R: FET [iifll FET JdRJLF—#f, ERFEMEM o' =2 (mod 5), 1

At w = 3. HFHBRMNTFEAEMTEHEEZ AR L 471 (mod 5) #f7
IH—1k.

4. FIH (mod 5) & X Ay FFT #1484 3x + 2x% F1 3 — x AYFEFH (mod 5).
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